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=2 2,280,000 2,280,000 0
[= 680,225 650,225 30,000
2 5,766,969 5,262,995 503,974
DEANHEY 16,240 17,000 AT60
A AS 16,240 17,000 AT60
HAL A= 16,240 17,000 AT60
201 LBt2 Y 14,440 15,200 AT60
01 At 2t2lH 14,440 15,200 AT60
Ot 2H| 1,000,000 * 122 «95% 11,400 12,000 A 600
o=l 8,000% *8H x50 4! x95% 3,040 3,200 2160
CAB2A =4 1,743,905 1,262,930 480,975
2 183,000 0 183,000
[ 30,000 0 30,000
2 1,530,905 1,262,930 267,975
oE2ZsAlA X 904,500 865,000 39,500
o232 218 XN (XH) 904,500 865,000 39,500
402 DI2H K 20| & 904,500 865,000 39,500
01 QIZIRF2 A S X (KAL) 904,500 865,000 39,500
OO0IEH SIHOISSIZ BT A 20,000 0 20,000
OAZ=H OIS B2 A 35,000 0 35,000
OASH UF20IS3 2 BT A 15,000 0 15,000
O0lZH ZHOISEB B2 A 8,000 0 8,000
O0ZH L0232 BT A 10,000 0 10,000
oY AX 0232 BT A 22,000 0 22,000
OMY olHDIS3 2 B2 A 8,000 0 8,000
ONE ALDISE 2 BT A 22,000 0 22,000
ODNEH WAIOISE B BT A 20,000 0 20,000
O&E&H MF0ISsEY B3 A 14,000 0 14,000
OFMH NS0IS3 2 B2 A 22,000 0 22,000
OFHH AZOIS3 2 HE=Z A 13,500 170,000 A 156,500
SAZE HH| 839,405 397,930 441,475
2 183,000 0 183,000
= 30,000 0 30,000
2 626,405 397,930 228,475
ARD Z2AA BRMHS 60,000 0 60,000
401 AlEHI L =0 60,000 0 60,000
01 Al&HI 60,000 0 60,000
OA=HOBHES ARA A= DA 60,000 0 60,000
2yne 2eg 38,497 8,730 29,767




2N BBASZIY
B CABY XM
Sl SAIZR Fbl CERED
2N -3 -2 (SH) - NHEMY - BES Off &F o4 I E M Husz
= 30,000 0 30,000
2 8,497 8,730 ~233
201 et | 1,027 1,080 A3
01 AL 22l 1,027 1,080 A53
O=9ZDS AYH AL, 2288 S
3,0002 * 1500H +95% 428 450 n22
O=ABDYAMAE FH2Y
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~ XA 2% 600, 0002 *63| 95% 3,420 3,600 A180
OZNS JHl 2 AFIA AR 10,000 0 10,000
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OXFEHNAG B2 A 10,000 0 10,000
= 10,000 0 10,000
OZD2 HEZA S NBANY 10,000 0 10,000
< 0,000 0 10,000
SAICIRIY 29 10,750 1,210 £460
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- FASAMNY ERE M
1,500& *5000H x95% 713 750 A37
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01 Al& I 19,000 20,000 A 1,000
oI 28 B
20,000, 0002 *13] *05% 19,000 20,000 A 1,000
SATHA A 4,641,840 4,446,840 195,000
E 2,280,000 2,280,000 0
= 456,000 456,000 0
E 1,905,840 1,710,840 195,000
SATA A 4,641,840 4,446,840 195,000
E 2,280,000 2,280,000 0
= 456,000 456,000 0
E 1,905,840 1,710,840 195,000
S EAAINK TAITHA (2 E) 4,416,840 4,416,840 0
E 2,280,000 2,280,000 0
< 456,000 456,000 0
E 1,680,840 1,680,840 0




SN BBASFY
HE: CATHY SEAY
SRl SATHY SYA CERED
SA - BAEH) - NRAY - LS 0l &k 24 o1 E o HRE2
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< 18,684 7,704 10,980
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OBFXSME =AD| S8 7Y
500, 0002 *2% *2JH 2,000 4,000 A2,000
OSANTWMTAME A4X A S 224l
2,500,0008 *23] 5,000 20,000 ~15,000
2 3,000 2,000 £9,000
< 600 2,400 A1,800
2 1,400 5,600 ~4,200
OSAHYRY S22E 7Y
5,000 +8 * 100 4,000 0,000 6,000
2 2,400 6,000 3,600
< 480 1,200 AT20
2 1,120 2,800 A1,680
OSAWYRY MLt 2SS 29
100, 000! *58 #53] 2,500 0,000 A7,500
2 1,500 6,000 ~4,500
< 300 1,200 A900
2 700 2,800 A2,100
03 A2t 144,200 24,200 120,000
OSANWMSY H43 M2 28 T
10,000,0002 * 13l 10,000 0 10,000
2 6,000 0 6,000
< 1,200 0 1,200
2 2,800 0 2,800
OSANTHASE OFIZCHAEY
15,000,0008 *23] 30,000 0 30,000
2 18,000 0 18,000
< 3,600 0 3,600
2 8,400 0 8,400
OZAMWMSEY 2#A 60,000,000 «14] 60,000 0 60,000
2 36,000 0 36,000
= 7,200 0 7,200
2 16.800 0 16.800
OSATHM =S So/0 2,500,000 *83] 20,000 0 20,000
2 2,000 0 12,000
= 2,400 0 2,400
2 5,600 0 5,600
401 NEHIL2THEI 3,945,900 4,029,800 £.83,900
2 2,120,460 2,175,360 54,900
< 424,092 435,072 £10,980
2 1,401,348 1,419,368 £18,020
01 Al bl 3,942,900 4,026,800 £.83,900
ST SHANKY AT SEAY 3,942,900 4,026,800 83,900
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